108

fzana
six2014091112 +F000 RHS500mb
3 O i
' h\.‘.':" | l:
ok
rd
1
|
“n:? -1 rE H':T:-:ﬁ!.{;uaﬁ & Eo ) ey 10 L= 4

RMS =45.4871

104

an

an

T

6l
Sl

H15W—tunacp
six2014091112 +Fﬂ-ﬂﬂ RH300mb

o LR

L

o, @)
LT

5 e
N i
M - ﬂ i

ok iy

]

"

ooy

S

1'.-

"ﬂ'r

% 'I .

L

w

,.l'

"‘..r

i.

i

J’f -\ .“}
ey ’d L "

1040

an

an

T

Bl

WW ADW TOW ED® 2 LOW 4w W 0w 0w [
=0 Weare=J4 575

Max= 0

RM5 =447 342

H15W-tu natlfpmﬂfmnu

k2014091112

RH300mb

L™,

1 |
1|! '
!
l §
POF  ADN 7@ W SO E T T [£-"
Wn=-104 ean= -1 83T
L Lk RuG =T AsIns



fsana H15W—tunacp H15W-tLu na?ﬂagfﬁunu

5ix2014091112 +F006  RHS00mb 5ix2014091112 +F006 RHS00mb 5ix2014091112 + RH500mb
s LR 7 = o LR - = 7
104 .. 1040
an an
ao ab
T T
H K
= Sl = Sl
L 1H ar
lil:- .:ll}
= F{H] = Fi{k
?1['-‘ EH}

L) o e 10w 1] L=

oy A T (2] oW L=y b ] o] b} 1] L=
L

[, ) =W
i bman=0 M6
Man= 10 FM5 =45 0520 Mar=100 RM5 =48.0877 War=303 REZ =T8T

O
Mire=0 Waare= 15,0005 W= Waar=56,0127 iin= -4 1



fsana H15W—tunacp H15W-tunacp—gfsana
six2014091112 +F012 RH300mb six2014091112 +FIEI'1E RH500mb six2014091112 +F012 RH300mb
T Lol S L (Y
100 - “3 ; - B 100
o o ' b ’1:!,1" o
& ; -E_ L1
i F - e &‘h TR
B s p S B0
= LT = Sl
LH] - L1H]
T
.:.D & :' .:.n-
b
o L] = 20
w " w
n
V ) 7
/ H

Mir=0 Hear=25.0921 Mir=0.5 Wear=36.0316 ey = T7.4 b= 901274
Man= 10 RM5 =48 0457 Mar=A5.1 RM5 =48.5733 War=Ti.8 REZ =10.F84



108

fzana

yr
A o
L\ §

5ix2014091112 +F018 RH500mb

P e

| Sy

— — W
-, '?' g @ ,I"'li. o
E o ; i - | a S ':é:‘-:

3
.

104

an

an

T

6l
Sl

_ g 0
:ri L K 4
ﬁﬂ‘"-_{ n -ll. : 1 .

; - . —\_L

|

“n-“' ars T H':T:-%EEE‘ L=l SE e Rl 3 1] (k=4

RMS =47 0307

18

1040

an

an

T

Bl
Sl

H15W—tunacp
six2014091112 +F018 RH500mb
[ g L - L‘aél
S G e
N
] .EI-.
3
L
||
O [ 1§ o (2 ) =W L=l S e Rl ) 1] L= 4
Wr=0.7 Wear=X57.5175
Mae=A5.R AM5 =d48.781

H15W-tunecp—qfsana
six2014091112 +F01

e e
Mean=0 i L15T
RS =128



fsana H15W—tunacp H15W-tLu naip —Efﬁunu
six2014091112 +F024 RH500mb six2014091112 +F024 RH500mb six2014091112 +F024 RH300mb

e IS L, o . lﬁ

SO -1 rE [n, ] o & Eo ) ey 10 (1] L= 4 O s e e O aom | e 10 1] L= "?ﬂ.ﬂ
war=(y HWagre=26,1+0% wir=08 Waar=37.0775 e
Man= 10 RM5 =48 231 Man=85.5 AM5 =43.7823 War=K3 REZ =14-131%

1) o e 10w 1] L=

T e =W
ean=0 J2B415



fsana H15W—tunacp Hlﬁ'ﬂ—tunafp Hﬁmnu
six2014091112 +F030 RH300mb six2014091112 +F030 RH300mb mﬂﬂMﬂQlHE 030 RH500mb
o f—.ﬁ L, o . \.ﬁ
. - W YRR .
" 4m . ' T 1'!,1""' a0
&D -i_ D
0 - o
B 2 B0
= LT = Sl
.m - .w :?ﬂ
i & L i =15
= EIV = F{H] e
a5 -5
h[ ) LLH] i
V . |
=i

Mir=0 Hear=16.1 38 Mirr=0.6 Wear=37,1803 Iy 81,4 b= G402
Man= 10 RM5 =45.920% Max=10 RM5 =43.5768 War=arE REZ =131



fsana H15W—tunacp H15W-tLu naip —Efﬁunu
six2014091112 +F036 RH300mb six2014091112 +F036 RH300mb six2014091112 +F036 RH300mb
e 5 W ’ \.ﬁ - f-.__%__h _j A i : \.,-aél i B i \.ﬁ

1[:‘:' m - P - = I : I 3 - e .‘- o e 1[:':' ; = . #
\ o o £ o
-f{-_ 80 -E_ &
™ nd e
B B0
= LT = Sl

L) o e 10w 1] L=

SO -1 rE [n, ] o & Eo ) ey 10 (1] L= 4 O s e e O aom | e 10 1] L= “l:l:-il TrE [, ) !E
Mir=0 Wear=36,6127 Mir=0.3 Weare=37, T35 = el
Man= 10 AM5 =48 2064 Max=10 RMS5 =48.1321 =1 REZ =18.7H1



fsana H15W—tunacp H15W-tLu naip —Efﬁunu
six2014091112 +F042 RH500mb six2014091112 +F042 RH500mb six2014091112 +F042 RH500mb
BoN T ; = BON ] o =4 Bm ¥ _,.m =)
{-\. L b El I!--\.'___\-_\- ::I L ) l'l._.-'al 'r-\. . ! : -5 l"-.-"&l
[ T— ] K . | - ¥ [ . .
- 100 L] . i : - A
£ R a0
&k aix
- | - % : -
il e ul | : - B0
50 R e ; 50
LTH] - L TH]
.:.D i .:.n-
= FE = Fik
? bl ] e Iﬁl 10
ot =55
=i
l H
S ars T e e L=l SE e Rl 3 1] (k=4 O [ 1§ o (2 ) =W L=l S e Rl ) 1] L= 4 ey aw T e W BIw 3T e bl g 1] L= 4
Mir=0 Wear=28.575 Mir=0.7 HWaare=38,7 104 e =03 boee=l), LN

Man= 10 FM5 =4B.06718 Mar=100 RM5 =45 9087 Har=i.3 REZ =17.1903



fsana H15W—tunacp H15W-tLu naip —gfﬁunu
six2014091112 +F048 RH300mb six2014091112 +F048 RH300mb six2014091112 +F048 RH300mb

104

an

an

T

6l

O [ 1§ o (2 ) =W L=l S e Rl ) 1] L= 4 “‘E‘ﬁ 3
=0 Wegr=233,3831 Mir=0.5 Wegr=33,0414 Hin=-El.
Man= 10 RM5 =48 5305 Man=89.2 RM5 =48.0377 =8 REZ =10-2409

1) o e 10w 1] L=

e W DWW
Mean= 0 J41684



fsana H15W-tunacp H15W-tLu naip —Efﬁunu
six2014091112 +F054 RH500mb six2014091112 +F054 RH500mb six2014091112 +F054 RH300mb

S ars T e e L=l SE e Rl 3 1] (k=4 O [ 1§ o (2 ) =W L=l S e Rl ) 1] L= 4 H,-:E_E
=0 Wegr=37 8637 Mir=0.5 Wegr=3%3,2327 Win=— 1
Man= 10 FM5 =47.8008 Man=85.5 RMS5 =48.2463 =i, RUZ =19.4802

aw T e g
ean=0 151



fsana H15W-tunacp H15W-tLu naip —Hfﬁunu
six2014091112 +F060 RH300mb six2014091112 +F060 RH300mb six2014091112 +F060 RH300mb
[ ] L™ o III"'H o T 3 I, = ';____ﬁ eon T ] T = T El
!
100
E" o
-:E_ &0
-
0
ks B0
[ E = 50

i -5
ol =40
| )
SO -1 rE [n, ] o & Eo ) ey 10 (1] L= 4 O s e e O aom | e 10 1] L= :n'mﬁ A TrE mﬂﬁg;l" aCw o, ) e ) 10 (1] (L=
wir=0 Wegr=37.881 Mir=0.3 Wegr=33, 7506 =00, L MEraily 4
Man= 10 AM5 =48 7443 Man=83.8 RM5 =485.A553 W=, REZ =084



fsana H15W-tunacp Hlﬁ'ﬂ—tunafp Efﬁunu
six201409111 -l-FIEI'EE RHS00mb six2014091112 +FEI'EE RHS00mb six2014091112 +F0668 RH500mb
'r-\. -?. L~ L 2] ."_\I k] (s l"._.-"'\._
FEI_L,}' A ‘5“] mie -.- [ El
S . ; . ) 100 : 100
Iz 1;’ - S E" 1 o - 1
e i ) g 4 L4
- Al F % i L 4 ao < | Bl
| ik ._ - . 1 5 - o [ .
el . . - Bl “\“’J_EA y . ' B0
A - . B L .
| U 'iij?- ’ 2 | S so B ..
= . el A0 - A0
] - i .
» — y Im Y I:.n
' i / = !
2 \ 1., \ ..
. & ?H} " EH}
) 1 . ||
s =55
s — I . ) -
l l }
S ars T e ﬂ L=l SE e Rl 3 1] (k=4 O [ 1§ o (2 ) =W L=l S e Rl ) 1] L= 4 -n-“_,-:@_Q aw T hﬂ::n ﬂﬁ] BIw 3T e bl g 1] L= 4
M 100 s =45.9154 Mares. s =47 0840 — R ~27.8901



fsana H15W—tunacp H15W-tLu naip —Efﬁunu
six2014091112 +FO72 RH300mb six2014091112 +F072 RH300mb six2014091112 +F072Z RH300mb
L] .!'_\I ] L = II""'EI 2] {_‘ ] 1 =4 '._._H (5] .{_‘ i ] L T '._ El

100 100
an an
ao Bl
n T
B B0
= LT = Sl
Ii-l.'-' Ii-l.'-'
b 1 H]
o L] = 20
V" V"

=345

.! =i

! ;
o gy i vy s 20207




fsana H15W—tunacp H15W-tLu naip —gfﬁunu
six2014091112 +FO78 RH300mb six2014091112 +F078 RH300mb six2014091112 +FO78 RH5300mb

[ Ly

L

1040
1‘.!
) a0
¥ a0
-
L 0
) | w
[ = L

-,

[n, ] o & Eo ) ey 10 (1] L= 4 O s e e O aom | e 10 1] L= “‘E‘ﬂ 3 a [ ETTR4E
wir=0 Wagr=37.455 ir=1.8 Wegr=33,1326 = S
Man= 10 RM5 =47.623 Man=89.2 RM5 =485.0153 =1 REZ =003



six2014091 11

fzana
+F084 RH500mMb

L™,

B MW 0&oWw 0 S DWW o I
HWagre=28,1371
RM5 =48 0052

H15W—tunacp
six2014091112 +F084 RH500mb

an {'i %I l‘.._.l'.\. ll""-.;d
. S
&n
i
3
-
Hm r_.-'-.'l"_
=,
108
b
e }
h
105
III
o
-

o
Wre=1.4
Max=B8.7

A T (2] oW L=y b ] o]

Weqre=253, 7977
AM5 =48 3207

b}

1040

an

an

T

Bl
Sl

H15W-tunecp—qfsana
six2014091112 +I-PEI'EE RHS500mb

ey aw T e 2w BIw 3T e bl g 1] L= 4
= - B E uman=(l E5EAE
Br=57.7 EMG =71,6843




fsana
2014091112 +F090 RH500mMb
L S ] Lo, - :jﬂ
Em Iy,
]
- §
3
20m | o8
L
rd
10§
b
5] |
h%
i1
|
i L
| }
SO -1 rE [n, ] o & Eo ) ey 10 (1] L= 4
=0 Waare=238.6013
M= 110 AM5 =48.3818

104

an

an

T

6l
Sl

H15W—tunacp
six2014091112 +F090 RH5300mb

1040

an

an

T

Bl

H15W-tunac
six2014091112 I-PEI'BH

faana

RH300mb

F ]
Wn=-Fl5 Mean=1 01 &5
=g, 5 RMS =] 5803




fzana
six2014091112 +F096 RH500mb

[ -] L™,

0% ADW TOW DWW 0 &CwW W JOW W [ 1
wr=0 Weare= 37,614
=1 0K) FM5 =47.17T08

104

an

an

T

6l

T A 2y
J
50N
1‘1
R
1
.
Hm r_.-'-.'l"_
[
108
1]
*,
105
n
irt
l !

H15W—tunacp
six2014091112 +F096 RH300mb

F i
=19
Man=85.8

Blw TOW EOW 2 SOW 0 &CW  S0W DWW
Wearr=39.2723
A5 =48 3087

H15W-tunecp—qfsana
six2014091112 +I-PEI'BE

[ -] L™,

RH300mb

¥OWF  ADw - ] [£-"
Wn= 040 Mean=1 £5138
=5, N RuG =TI 5847




E H15W-tunacp Hlﬁ'ﬂ—tunafp Efﬁunu
six2014091 1 +FI'DE RH500mb six2014091112 +F102 RH500mb six2014091112 02 RH300mb
oon T T LA = El
Wi
160 . 160
hﬁ‘ 7
a0 o -‘*-"\-t ¢ ' a0
ab "_‘-‘ .- Bis
™ i ‘ ™
B0 . "“JE TN o B0
=50 [ =50
L 1H - ar
[ N
i & | i
%
= F{H] = Fi{k
? bl ] e Iﬁl 10
n
bk -
f - -
oy A T (2] !rl'.‘l.' L=y b ] o] b} 1] L= - -“_;_R!. 1) e hﬂ!:i ‘n!;.?_" L) o e 10w 1] L=
Mar= 100 Rt =4t 71 44 Marego.5 RE =4t 5413 War=i7 RMS =12.7808



Efsnnn H15W-tunacp H15W-tLu naip —gfﬁunu
six2014091112 +F108 RH300mb six2014091112 +F108 RH300mb six2014091112 +F10

RH300mb

SO -1 rE [n, ] o & Eo ) ey 10 (1] L= 4 O s e e O aom | e 10 1] L= “Sl:-ﬁ. TrE mi 55!{?_'1
wir=0 Wegr=37.2775 Mir=2.1 Wegr=33.8302 W =80, s 51
Man= 10 FM5 =47.0414 Man=83.7 RM5 =485.9187 W= 4 REZ =111



.

fzana
2014091112 +F114 RH500mb
T T LA 7

2

-
]

i
B
3
]

b
an
e
b
. !
",
|
:
0% ADW TOW DWW 0 &CwW W JOW W 1
wr=0 HWagre=158, 1966

RMS =47 5363

104

an

an

T

6l
Sl

H15W—tunacp
six2014091112 +F114 RH500mb

O [ 1§ o (2 ) =W L=l S e Rl ) 1] L= 4
Mr=1.5 Weqr=40 4817
Mae=03.6 RM5 =47 4043

1040

an

an

T

Bl

H15W-tu n:ﬁ TE

k2014091112

faana
RHS500mb




gfsnnn H15W—tunacp H15W-tLu naip —Hfﬁunu

six2014091112 +F120 RH500mb six2014091112 +F120 RH500mb six2014091112 +F120 RH300mb

o {7 L, =4 T s T T L = T won T : L, =4 L
. . 2

L

rd
[n, ] o & Eo ) ey 10 (1] L= 4 O s e e O aom | e 10 1] L= 15 A mi im
Mir=0 Waare=18.0181 =1 Waarr=40.1457 Min=— Mhirm L §
Man= 10 AM5 =48.0054 Man=83.8 AM5 =47.1338 =05 REZ =I3-XH¥




